EAGRAROBREERT — 2 N— IBISH —F

202154368 () 1H#E2H

mv—x 1 RKE B2B3 4#7%—#% \ [X&] W \ il — |4 (%) 15000 R&
[A&4£] 1 7% :2,700,000 @ 2 3% :1,080,000 @ 3 3&:675,000 @ 4 3% :405,000 @ . 5 7 :270,000 M
& %B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
— N B R 5 :34. -3-3- . — BRER (afs)
NN E PR it 6 Hem 1(3_4)0 3-3-3-2 | 37.7 2 ;1:521) EEEZ &
R:Z2v—=btT77ar BUNFA=TU2 R LZHhITy7—L
e 8.7 T ANElIsE :34. == . — R (M15)
2079 |7TT7 =R AL ) 1<324)4 ees | %3 ! f;) )
L:A—Y XL 44 B:5TY—EN elike
=5 B4 | HINE 1:34.7 8-8-5-4 |38.2| — 1 476 | WWTEZ (#818)
EH 2 | TIRINT 55.0 (1 1/2) 47 | RBEEE
L:Z27)—rbe—A— B:HYFULIE HET7—L
i I 4 4 5 | B 1:34.9 9-9-10-10 | 38.0 | — 12 | 447 | WLIBEBE (1)
4155 L1 NTIV=32T 55.0 1) “n (Hf?—$—1
R:TF7>TYVRZX B:Y—ZTIXAR=J BEHS
5 | AHIEE 1:35.1 —6-5- . - 4 IITF&z (1)
518(11| 77 L7 7RI # 55.0 (3/4) Y56 | %88 (5_(13) %K?ESE ;
L:boH¥sAa-U— B:aAXEHEVHA [ cpae]
EIH o) e 9] — ARES (18
6l1/1|ZYV—F—2Av7T 5 4 55.0 1(33/54>2 R e ° ?_531) fER—
R:T7UA—Y BTLAIYEITINL NE SEF
Ly s 7 | ATHAER 1:35.4 10-11-9-7 | 38.5| — 6 449 | B (fRAR)
] glE¥Ya 53.0 () (1) |HmAt
STANNTTFH— BixAxNR2T T4 EvJLy RT7—L4
] Pl — Y 4 5 | KE&Z 1:35.9 7-7-8-8 | 39.1| — 8 441 | REBEE (118E)
a2 ) Py TN—1T .0 21/2) @) | ) *rOvrTr—s4
Lig— PLESIL BT —T I —> J—H Ty — L
— NS, 8 5 | EBHZ 1:36.4 1-1-1-1 | 40.6| — 5 451 | TEEREAL (AR4E)
ol 4| TA/NY— 85.0 @ 1/2) | ) s
R4 B:JO—K7PE—IL RIS
. B4 | BRE 1:36.7 1-10-11-11{ 39.6 | — 9 483 | EEEE (faAE)
10 7|7LvEXNT—F 25320 (1 1/2) (1) | KEATHE
RNRIVTSY BR—FSFIY 7 LA
B . 44 | WBBETL 1:36.9 6-5-7-9 | 40.3| — 11 420 | UARZE (#A18)
11 3| b=~y b 53.0 (3/4) 7) | bore¥-EX ()
R:wTyr7ORN— B:avz T14F NOENTT =L
S B 4 4 | FIHEAE 1:36.9 12-12-12-12| 39.2 | — 10 303 | KHEZEH (KH)
12/ 7 |10 IAF v 55.0 (74%) 42) BETR%
LiboHI—IK B:oavxrdhd— 22aA9IT7— L
® I —F—EBIERL
13=7r= 4,9,6,1,11,3,12,2,5,8,7,10
23—F— 4,9,6,1,3,11,12,2,5,7,8,10
Ga=r= 4,9,6,1,(2,11),3,12,8,5,7,10
43—+ — 4,6,9,2,1,11,8,12,3,5,7,10
[ RN
B OB 6 330H 714K 6-9 790M e & 5-7 1,420 3ER 2-6-9 2,460
% B 6 130M 2-6 280 B 5-7 2,560 JEH 6-9-2 16,990M
9 380H 2-9 1,070M B E 6-9 2,250
2 1509 B H 6-9 3,410M

ARICOVWTRDTEEERROODE. TR LIV,




